Vo2 L

ERlRE

EEN E%H




Mo RFREFENFEHFR T RAS

— LA

¥ote

MmKFHMBM
1999- & #



AKX FRBOEER DKM —ERRE
Xinbian Daxue Yingyu Siji Kaoshi Guoguan Congshu —— Moni Shiti
 W® EEH

ONERE 44
R ATT dei$dni
sk KYHiEEL s 410082
i 07318821691 0731 -8821315
g M b hkesE
CIEn ¥ Rz EFGHS

(OFFF 850<1168 32 [E0K S W 246 T
CIRER 19994 10 A LA [J1999 4F 10 A% 1 Wk EIM
CIED¥ (-5 000

TIHE  ISBN 7-81053-245-6 /H 44

OE#  10.00 7T

(Bd K FEP LGP ER, AR AR)



( FrmAFEIBNEERILEAR)
L= R
(A KE B HF)
WmES A% EEL
FEH GYALRK BRAE



(FHAXFEBERAE XL AR B)ZABERHF H 199
$5RA2 BHBHG(KRFERERFRRN(BITR)IGERESR
ABMEGRNLEBEN, RPN FEERF LB FFTHX
BHEFERTR . AABEIEHOFF LK FREQAF XY
BiEXFRA EHFEARBARNF AT, AR F ik
RITRARFRBERFRAMGITR))EBET Ao B AN L
HETER RRAEWAE X T EAHY RELTF T E,
HEA) 38 i v R A K,

AFHZ g EMXBEIER R TR R EHFRA(BITR))
“REAMIETEABAE TR TGN, LR A E RS A
ETHEAPALAETLEEL, 28 L5 =280 . F—¥5
AI0ELABPRM, AT HBT7THAEMEHMOE (SAER
EM1.2.7.8); 46X N ERITHBILENE (HAEBEM 3.4,
5.6);iRFEHE(BABBGEM I F10), F =452 10 £42
MEMA LR EZBEL, BEHSHAFTARSERFTLFH
#o

AP BT Hith, THER HEM ZHALERHFSEL
X HEEHHE;NEERBITHASE AL EEHEESF
BRPHE FIMXIBREASE REEEEHA TS PINLE
R ABEREERTF M8 EE ¥ X MarilynKress & + =



R.Lloyd Kress £ 2 80k, F R Fw, 2 FME, ABZFT#HF
Wb F IR AL B AT, '
W T ot E) Fal R Z AL, SR BRI
% &
1999 & 7 A



I

i1

Contents

Model Tests
Model Test 1 +errerecrrnrearararierrumeuiieeieieiarireanerneins (3)
Model Test 2 cereerrrroremttareitriiariiiiiiiian, (20)
Model Test 3 +eeererreenstrtitniertiiiiiiiiiiiiianietiieiiiien. ( 38)
Model Test 4 «ervereressveerierssornasisiaess, ceeenrarrreeanes (56)
Model Tegt § ovrereererreesasetoraatireetiaacattentcncaenes (74)
Model Test § crvrreerersrerrrensetstentiintotiiaiiieiniaaa., (92)
Model Test 7  ctreeseevesessevsatniiastiniisrssttssiacisnsans (1 10)
Model Test 8  creeerreerrrrrreneatirisresaressarrancerirnacnes (127)
Model Test @  ccvevmrrerrereerrneeniimaiiiiaiieeiaeiiiaeaens ( 145)
Model Test 10 c-rreereereerrersersrimeiiiiiiii. (162)

Keys and Notes to Model Tests

Model Test 1 srererererrsernermmerintioiiiineaa. (183)
Model Test 2 c-rrerrerrorsreseriniimetioiionitiieaiiaeie. (186)
Model Test 3 coverrrerererseromonreniriniereraien, (189)
Model Test 4  +eorverererereuraaiiiianaieassiaiiiiiiineins (192)
Model Test 5 tevreersrrrecrttsanistinnriniiiaisineiiinaie, (195)
Model TeSt §  +vcereveerrecrrarmasatinmicmarmitoiiiianenas (199)



m

Model Test 7 vorerrrrrersrrsrsesstivesioiieiniiieee. (202)

Model Test 8§  »erererrrererrrsrertnsasamisnsinneniin (206)
Model Test O  creeresrerrssriiiiairaiiiiiiiiniiiiinaiciiee. {209)
Model Test 10 veerrrerrrrrecrirmrmretnianiieaiina. (212)

Recorded Scripts

Model Tegt 1 tevrerrrrarrtrarmioiiiciiiiitcisiisiioiiciceia (219)
Model Tegt 2 rreerereressssssnreranerrtsrsiciasncnantaiensns, ( 223)
Model Tast 3 reererreesrnrertesrrersntsrintiiiroiieeieaeriaens (227)
Model Test 4 «voreereerrmersenanaenanmareenieii. (229)
Model Test § »rremrerrereceosaaretaissiiiisriiiniiirnaiie: (231)
Model Teast 6 rrerreressarsrtarsariiesiierinrraonarreraecee vane (233)
Model Tegt T +rrrrrrresersssresarettansisianciriasineianecoisce (235)
Model Test 8 «rvrrrerrrerrmrmsarentarieraraiiisiimiiaiean (238)
Model Test 9 worreeerrereerrcenseeiiieniranioiiiaiiiiiciiiiees (242)
Model Test 10 reereremerreesnsasrasnarineiiaciiaine. (245)



I Model Tests






Model Test 1

Part 1 Listening Comprehension (20 minutes)

Section A
Directions: [n this section, you will hear 10 short conversations. At the end of
each conversation a question will be asked about what was said . Both the conver-
sation and the question will be spoken only once . Afier each question there will be
a pause. During the pause you must read the four choices marked A), B), C)
and D), and decide which is the best answer . Then mark the corresponding let-
ter on the Answer Sheet with a single line through the center .
Example: You will hear: )

You will read :

A) At the Office. B) In the waiting room.

() At the airport. D) In a restaurant.

From the conversation, we know that the two were talking about some
work they have to finish in the evenung . This is most likely to have taken place at
the office. Therefore, A)" At the office” is the best answer. You should
choose (A) on the Answer Sheet and mark it with a single Line through the cen-

ter.

Sample Answer (A) (B) (C) (D)



1.A) English 625. B) History 471.

C) English 471. D) History 625.
2.A) $2.00 B) $1.00
C) 50 cents. D) $1.50.

3.A) She baked the cake herself.
B) She wants the man to bake the cake.
C) The bakery made the cake for her.
D) The cake required no baking.

4. A) They have met before.
B) The man remembers her.
C) The man disagrees with the woman.
D) They have never met before.

5.A) At a restaurant. B) At a movie.
C) At a friend’s home. D) At a gas station.

6. A) Write the letter. B) Paint the shelves.
C) Fix a shelf. D) Search for the pen.

7.A) Go home at six o’clock. B) Work together with Mr. Poster.
C) Help the man. D) Type some letters.

8.A) The man’s trip is shorter.
B) The man leaves after the woman.
C) The woman leaves tonight.
D) The woman’s trip is shorter.
9. A) Nancy is going for a long time.
B) Nancy will spend too much money for her vacation.
C) Colorado will have thunder shower.
D) Nancy plans to go to Colorado where there may be a heavy snow.
10. A) He wrote it last semester.
B) He'll finish it in a few minutes.
C) He never does assignments early.
D) He isn’t going to write it.
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Section B

Directions: In this section, you will hear 3 short passages. At the end of each
passage , you will hear some questions. Both the passage and the questions will
be spoken only once. After you hear a question , you must choose the answer from
the four choices marked A), B),C) and D). Then mark the corresponding let-
ter on the Answer Sheet with a single line through the center . .
Passage One

Questions 11 to 13 are based on the passage you have just heard.

11.A) A full-time job. B) A part-time job.
C) A day-time job. D) A night-time job.
12.A) In the restaurants. B) In the stores or gas stations.
C) In the supermarkets. D) All of the above.
13.A) A {feeling of independence. B) A sense of responsibility.
C) Both A) and B). D) A productive life in society.
Passage Two

Questions 14 to 16 are based on the passage you have just heard.
14. A) Because it can store a lot of information.

B) Because it can operate very quickly.

C) Because it can be built into other machines.

D) Ali of the reasons mentioned above.
15.A) Computers have changed a lot.

B) The computer will change our lives.

C) Computers are getting smaller.

D) Modern computers can be built into machines.

16. A) The silicon chip. B) The memory chip.
C) The electric cell. D) The robot.
Passage Three

Questions 17 to 20 are based on the passage you have just heard.
17. A) Rock music. B) Jazz music.



C) Traditional music. D) Classical music.

18. A) Percussion(41 & )instrument. B) String instruments.

C) Electrical instruments. D) None of the above.
19.A) In the U.S.A. B) In Europe.

C) In Africa. D) In Asia.
20.A) Rock music. B) Classical music.

() Traditional music. D) Jazz music.

Part II Vocabulary and Structure (20 minutes)

Directions: There are 30 incomplete sentences in this part. For each sentence
there ure four choices marked A), BY, C) and I3). Choose the One answer that
best com pletes the sentence. Then mark the corresponding letter on the Answer

Sheet with a single line through the center .

21. The cars were because it was impossible to go any further in the
fog.
A) sacrificed B) transported
() abandoned D) removed
22 We have had to raise our prices because of the increase in the cost of
- __ materials.
A) primitive B) rough
C) original D) raw
23. Many people, if not most, literary taste as an elegant accomplish-

ment. by acquiring which they will complete themselves, and make them-
selves fix_]ally {it as members of a correct society.

A) look on B) look down

) look in D) look into
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24.

25.

26.

27.

28.

29.

X

<

3t

The doctor was asked to go back to the hospital because of an
case.
A) operation B) emergency
C) urgency D) incident
He has strange hobbies like collecting bottle tops and inventing
secret codes.
A) gone on B) gone in for
C) gone with D) gone through with
A series of border incidents would lead the two countries to war.
A) inevitably B) consistently
() indispensably D) persistently
I seem to have reached a rather gloomy conclusion, but I think that some-
thing cheerful may still be derived it.
A) of B) off
C) from D) with
After the collision, he examined the considerable to his car.
A) ruin B) destruction
C) damage D) injury
To be an inventor, one needs profound knowledge as well as a very
___ _______ imagination.
A) vivid B) visual
C) living D) live
. The traffic police were searching for evidence to prove the accused man’s
o , but'in vain.
A) mistake B) guilt
C) fault D) defeat
They tossed your thoughts back and forth for over an hour, but still could not
make  of them.
A) impression B) comprehension
C) meaning D) sense



32. 1 didn’t know what to do when an idea suddenly
A) reminded B) remembered
C) recalled D) occurred

33. Florida, the biggest producer of orange in America,
the production of vegetables, next only to California.
A) takes B) classifies
C) ranks D) occupies

34.1 didn't say anything like that at all. You are purposely

to prove your opinion.

10 me.

second in

my ideas

A) revising B) contradicting
C) distorting D) distracting
35.1t’s getting darker and darker, and not a is to be seen in the
street.
A) spirit B) soul
C) ghost D) mind
36. There no further business, the meeting was adjourned.
A)to be B)was
C) were D)being
37. The road got worse until there was none at all.
A)more B)even
C)so D)very
38. You don’t need for his permission every time you want to leave
the room.
Adto ask B)ask
C)asking D)being asked
39. Everyone agreed to his suggestion -a bridge ‘be built across the
river.
A)as l B)which
C)that D)so that
40. Do you have much work to do you can’t even stop

.8 .



for a moment’s rest?

A)so-that B)such--that
C)so+-as D)as-as
41. the floods, the railway traffic in this section was suspended for
two hours.
A)For » B)In spite of
C)Due to D)Because of
42. The work by the time you get here.
A)will have been done B)will have done
C)had been done D)was done
43. 1 wish that I the concert last night.
A)could attend B)attended
C)had attended D)could have attended
44. We arranged by the best doctors.
A)for her to examine B)her examined
C)her to be examined D)for her to be examined
45. The tape recorder will last longer if ___~ properly.
A)it will be used B)used
C)it used D)using
46. honest, she would not have been punished.
A)Has she been B)If she were
C)Had she been D)Were she

47. Some states in the United States have an income tax similar to of

the federal government.

Adone ' B)those
C)that D)which
48. Airplanes fly from New York to London only eight hours and
from South America to Africa four.
Adfor---with . B)with--in
C)in+in D)with---with



